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FIŞĂ DE LUCRU

Ordinea efectuării operaţiilor
1. Calculează :

(8x9 – 4:2) – (91- 9x9) =

100-(27+ 7x6 – 48:8) :7 =

(4x8 + 3x9 +21):10: (40 – 9x4) =

 56 : (100 – 8x5 – 6x5 – 7x3 -1) =                     

 (24+ 6x2):4 +7 –(28 – 12:3):6=

(54: 6x3 – 6x2) : 3 =  

(2x3x3) :2x(45:9 +72:8 – 16:2)=
 4 x 3 + 15 – 7 x 2 + 37 – 8 x 6 =                        

 19 + ( 6 x 7 – 18 ) – 2 x 9 =

73 – 58 + 29 -  4 =                        

 24 : 8 x 3 x 4 : 6 =

 30 + 32 : 8 + 8 x 7 – 100 : 10 = 

20 – ( 3 x 5 – 2 + 3 ) : ( 26 – 9 x 2 ) = 

10 x 4 : 5 x 3 + 32 – 32 : 8 x 7 =  




89 + 64 : 8 x 7 – 28 : 7 x 4 =  

( 25 : 5 – 7 : 7 ) + ( 36 : 9 + 8 x 0 ) =

815-24:2:2=                                                             



50:10:5+90:9=

12+6:(3+9:3)=







21-21: 7x(4 - 5: 5)=

2. Verifică egalitatea :

190 – 4 x ( 5 x 3 + 7 x 4 – 35 ) + 8 x 8 = (14 – 7) x 3 +(21 – 19) x 8 - (15 + 6 – 18) x 9  
3. Se dau numerele :  a = 6 x 7 – 5 x 6 – 72 : 8           

                                b = 64 : 8 + 3 x 4 – 4 x 4           
                                c = 42 : 6 – 16 : 8                      

        Calculează :  3 x a – 2 x b + c 
4. Calculează numărul necunoscut :

  (a x 5) : 2 = 40 : 4 
         (b : 3) x 6 = 52 – 4  

   9 x (c : 6) = 6 x 6 

42 : (d x 3) = 21 : 3              60 –  (e x 9) = 30 : 5                   72 – 40 = (f : 3) x (40 : 5)  
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